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Question 34: What is the antonym for the word 'deformation'?

A. distortion

B. contortion

C. disfigurement
D. wholeness

Answer: wholeness

Explanation: Deformation (noun): Meaning: The action or process of deforming or
distorting/The result of a distorting process. SYNONYMS: - distortion, malformation,
contortion, buckling, twisting, warping, bending, disfigurement etc

Question 35: Words inscribed on a tomb is an-

A. epitome
B. epithet

C. episode
D. epitaph



Answer: epitaph

Explanation: Epitaph (Noun): 1. a phrase or form of words written in memory of a
person who has died, especially as an inscription on a tombstone. 2. Something by
which a person, time, or event will be remembered. FRAT T - AT AT, -
epitome = TR, SNIfTF TSI - epithet = (FIET 6HAET SNITTEF [FCTHT AAJT FefaT|
(T34 Akbar the great. - episode = (FTET S FIRfAF @56 S| Source: Oxford and
Bangla Academy (English-Bangla) Dictionary.

Question 36: The phrase 'dog days' means-

A. ice storm

B. cold shower

C. rain-soaked streets
D. hot weather

Answer: hot weather

Explanation: Dog days (PLURAL NOUN): Meaning: The hottest period of the year
(reckoned in antiquity from the heliacal rising of Sirius, the Dog Star) = hot weather.
IREAT 91 - TET SHSH T (SFIR - A6 M) oAk OF S8 - F) hot weather. Source:
Oxford and Bangla Academy (English-Bangla) Dictionary.

Question 37: Which gender is the word 'orphan'?

A. neuter

B. feminine

C. masculine

D. common

Answer: common

Explanation: Orphan (Noun): Meaning: A child whose parents are dead. JIRAT o7 -
afSs Fra/afes Jear afb (wE-(IF T2 JAT | SR 9% S - 5T) common gender.

Question 38: Who wrote the play “The Way of the World”?



A. William Shakespeare
B. Oscar Wilde

C. Ben Jonson

D. William Congreve

Answer: William Congreve

Explanation: The Way of the World, comedy of manners in five acts by William
Congreve, performed and published in 1700. - The play, which is considered
Congreve’s masterpiece, ridicules the assumptions that governed the society of his
time, especially those concerning love and marriage.

Question 39: “Better to reign in Hell, than serve in Heav'n." --Who wrote this?

A. Geoffrey Chaucer

B. Christopher Marlowe
C. P. B. Shelley

D. John Milton

Answer: John Milton

Explanation: To reign is worth ambition though in Hell: Better to reign in hell, than serve
in heav'n." - Paradise Lost. By John Milton. John Milton, (born December 9, 1608,
London, England—died November 87, 1674, London?), English poet, pamphleteer, and
historian, considered the most significant English author after William Shakespeare.

Question 40: Who is not an Irish writer?
A. Oscar Wilde

B. James Joyce

C. Jonathan Swift

D. D. H. Lawrence

Answer: D. H. Lawrence

Explanation: Among the writers: - Oscar Wilde is an Irish wit, poet, and dramatist
whose reputation rests on his only novel, The Picture of Dorian Gray (1891), and on his



comic masterpieces Lady Windermere’s Fan (1892) and The Importance of Being
Earnest (1895).

Question 41: A herd of cattle is passing.' The underlined word is a/an -

A. adverb

B. adjective

C. abstract noun
D. collective noun

Answer: collective noun

Explanation: Herd (Noun): Meaning: A large group of animals, especially hoofed
mammals, that live, feed, or migrate together or are kept together as livestock. 1T 372

- (A0 STAIWETSR) wel; =711 S[edR, <ib A%61 Collective Noun.

Question 42: What is the adjective form of the word 'people’?

A. popularize
B. popular
C. popularity
D. populous

Answer: populous

Explanation: - Populous (Adjective): Having a large population; densely populated.
JRAT I - F4F2T - Popular (Adjective): Liked, admired, or enjoyed by many people or
by a particular person or group.

Question 43: He contemplated marrying his cousin.' Here 'marrying' is a/an-

A. present participle

B. infinitive

C. verb

D. gerund

Answer: gerund
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FE, ORE ©IF Gerund I¢T1 - ICT Contemplate — Verb 49 Object R3ITF F1F 'marrying'
=6 Noun M| - 91T Verb+ing — Noun RR0TE 359%@ 2 951 Gerund 23|

Question 44: No Second Troy' is a-

A. short story
B. novel

C. drama

D. poem

Answer: poem

Explanation: No Second Troy - is famous poem of William Butler Yeats. - William Butler
Yeats's relationship with the beautiful and defiant Irishwoman Maud Gonne is one of the
great literary love stories of the 20th century.

Question 45: Who is not a modern poet?

A. W. B. Yeats
B. W. H. Auden
C.T.S. Eliot
D. John Keats

Answer: John Keats

Explanation: William Butler Yeats, W. H. Auden and T.S. Eliot are Modern poet and
literary figures. - On the other hand, John Keats is a English Romantic Period's poet.
Source: Britannica and An ABC of English Literature.

Question 46: Who is the author of the novel 'The God of Small Things'?.

A. Thomas Hardy
B. Jhumpa Lahiri
C. R. K. Narayan
D. Arundhati Roy



Answer: Arundhati Roy

Explanation: Arundhati Roy is an Indian author, actress, and political activist who was
best known for the award winning novel for The God of Small Things (1997) and for her
involvement in environmental and human rights causes. Her notable works: - The
Ministry of Utmost Happiness (2017), - The God of Small Things (1997). She was
awarded Booker Prize in 1997 for The God of Small Things. Source: Britannica.com

Question 47: Which of the following novels is not written by an English writer?

A. A Passage to India

B. Sons and Lovers

C. Pride and Prejudice

D. One Hundred Years of Solitude

Answer: One Hundred Years of Solitude

Explanation: only Gabriel Garcia Marquez is not a Bristish or English writer. So,
Correct answer to this question: One Hundred Years of Solitude Source: Britannia.com
Question 48: A speech full of too many words is-

A. a big speech

B. maiden speech

C. an unimportant speech

D. a verbose speech

Answer: a verbose speech

Explanation: Verbose: English Meaning: Using or expressed in more words than are
needed. Bangla Meaning: 15MGFS Tf; Wﬂfﬁ a verbose speech/speaker/style. So,

A verbose speech means 'containing more words than necessary'. - The speech that
contains more words is called a verbose speech

Question 49: Who is the poet of the poem “Ozymandias”?



A. John Keats

B. William Wordsworth
C. S. T. Coleridge

D. P. B. Shelley

Answer: P. B. Shelley

Explanation: Ozymandias, a sonnet by Percy Bysshe Shelley, was published in 1818.
One of Shelley’s most famous short works, the poem offers an ironic commentary on
the fleeting nature of power. Percy Bysshe Shelley, an English Romantic poet whose
passionate search for personal love and social justice was gradually channeled from
overt actions into poems that rank with the greatest in the English language.

Question 50: Moby Dick', a novel, was written by -

A. William Faulkner

B. Nathaniel Hawthorne
C. Mark Twain

D. Herman Melville

Answer: Herman Melville

Explanation: Moby Dick, novel by Herman Melville, published in London in October
1851 as The Whale and a month later in New York City as Moby-Dick; or, The Whale. It
is dedicated to Nathaniel Hawthorne.

Question 51: If Winter comes, can Spring be far behind?' - Who wrote this?

A. William Blake
B. S. T. Coleridge
C. Lord Byron

D. P. B. Shelley

Answer: P. B. Shelley
Explanation: Percy Bysshe Shelley is an English Romantic poet whose passionate

search for personal love and social justice was gradually channeled from overt actions
into poems that rank with the greatest in the English language. P



Question 52: O' Henry was from -

A. Canada
B. Ireland

C. England
D. America

Answer: America

Explanation: O. Henry, pseudonym of William Sydney Porter is an American
short-story writer whose tales romanticized the commonplace—in particular the life of
ordinary people in New York City. Notable Works - The Gift of the Magi - The Last leaf -
Cabbages and Kings - The Ransom of the Red Chief - The Voice of the City - The Four
Million. - Heart of the West - Letters to Lithopolis - Roads of Destiny etc. Source:
Britannica.com

Question 53: Where is the setting of the play 'Hamlet'?

A. England
B. Iltaly

C. France
D. Denmark

Answer: Denmark

Explanation: Hamlet, in full Hamlet, Prince of Denmark, tragedy in five acts by William
Shakespeare, written about 1599-1601 and published in a quarto edition in 1603 from
an unauthorized text, with reference to an earlier play. - The play was set in Denmark.

Question 54: The word 'to genuflect' means -

A. to be genuine

B. to reflect

C. to be flexible

D. to bend the knee



Answer: to bend the knee

Explanation: To genuflect (Intransitive verb): Meaning: 1. Lower one's body briefly by
bending one knee to the ground, typically in worship or as a sign of respect. 2. Show
deference or servility. IRT a1 - oo 2311 Source: Oxford and Bangla Academy
(English Bangla) Dictionary.

Question 55: Fill in the blank: She went to New Market .

A. by walking
B. on feet
C. by foot
D. on foot

Answer: on foot

Explanation: On foot (Phrase): Meaning: Walking rather than traveling by car or using
other transport. I2AT3, TAIRT TIAET HI® NF 2767 K On foot TFIzwe 3T | ©IR AT
3% T8 - F) on foot.

Question 56: Fill in the gap: Birds fly ___in the sky.

A. random
B. are long
C. at a stitch
D. at large

Answer: at large

Explanation: At large (Phrase): Meaning: (especially of a criminal or dangerous animal)
at liberty; escaped or not yet captured/Freely. IR o1 - & 1 THTONT | IFHF % -
A Y/ NHTSTF AFCT S (TS|

Question 57: Who is the author of 'Jane Eyre'?

A. Mary Shelley
B. Emily Bronté



C. Jane Austen
D. Charlotte Bronté

Answer: Charlotte Bronté

Explanation: Jane Eyre, novel by Charlotte Bronté, first published in 1847 as Jane
Eyre: An Autobiography, with Currer Bell (Bronté’s pseudonym) listed as the editor.
Character of this novel: - Jane Eyre - Edward Rochester - St. John Rivers - Helen Burns
- Mrs. Reed Famous works of Charlotte Bronté: - Jane Eyre, - Shirley, - Villette, - The
Professor etc. Source: Britannica and SparkNotes

Question 58: The most famous romantic poet of English literature is -

A. John Dryden

B. Alexander Pope
C.T. S. Eliot

D. William Wordsworth

Answer: William Wordsworth

Explanation: William Wordsworth was one of the founders of English Romanticism and
one its most central figures and important intellects. - He is remembered as a poet of
spiritual and epistemological speculation, a poet concerned with the human relationship
to nature and a fierce advocate of using the vocabulary and speech patterns of common
people in poetry.

Question 59: Identify the correct synonym for the word 'magnanimous’.

A. unkind

B. friendly

C. revengeful
D. generous

Answer: generous
Explanation: Magnanimous (Adjective): Meaning: Generous or forgiving, especially

toward a rival or less powerful person. T 3 - F2ed SYNONYMS: - generous,
charitable, benevolent, beneficent, munificent, bountiful, liberal, handsome, princely,



altruistic, philanthropic, chivalrous, noble ANTONYMS: - mean-spirited, selfish Source:
Oxford Dictionary.

Question 60: Choose the right form of verb: It is high time we (act) on the matter.

A. are acting
B. could act
C. have acted
D. acted

Answer: acted

Explanation: It is high time (PHRASE): Meaning: It is past the time when something
should have happened or been done. Ex: It was high time that she faced the facts. It is
high time a3 i@ Past Tense 4 Verb 37| B 3% $oF %) acted. AT o — fFHJGT
ST FTS FAF AR T 7|

Question 61: What is the noun form of the word ‘laugh’?

A. laughing
B. laughable
C. laughingly
D. laughter

Answer: laughter

Explanation: laugh' *=fB Intransitive Verb. 95 noun form 2 - laughter. Laughter
(Noun): Meaning: The action or sound of laughing. =T 3% - ZI5T; <7 2N AN, -
laughable (adjective) - So ludicrous as to be amusing. - laughingly (adverb) - In an
amused way; with laughter. Source: Oxford Dictionary.

Question 62: Identify the word which is spelt incorrectly:

A. fluctuation
B. remission
C. decision
D. ocassion



Answer: ocassion

Explanation: Ocassion 45 8% 1919 = Occasion. Occasion (Noun): Meaning: 1. A
particular event, or the time at which it takes place. 2. A special or noteworthy event,
ceremony, or celebration. 3. A suitable or opportune time for doing something.

Question 63: Change the voice: 'Nobody trusts a traitor.'

A. A traitor is trusted..

B. A traitor should not be trusted.

C. Everybody hates a traitor.

D. A traitor is not trusted by anybody.

Answer: A traitor is not trusted by anybody.

Explanation: Passive ¥ 2, - Subject — Object 2, Object — Subject 2J| - Afefde
be verb IT| - T Verb 97 Past Participle 3071 - Object 97 SIST by I071 92 RETE
"Nobody trusts a traitor" 95 Passive 2837 Bft8 - - A traitor is trusted by nobody. f&&
Nobody = not anybody. w49, A traitor is trusted by nobody = A traitor is not trusted by
anybody. JodNR 3F Tod - q) A traitor is not trusted by anybody.

Question 64: ____ was both a poet and a painter.

A. John Keats
B. Spenser

C. John Donne
D. William Blake

Answer: William Blake
Explanation: William Blake was an English engraver, artist (painter), poet, and
visionary. - He was poet of Romantic English period. His notable works: - Marriage of

Hell and Heaven, - Songs of Innocence, - Songs of Experience - Visions of the
Daughters of Albion - First Book of Urizen - Milton - Jerusalem Source: Britannica.com

Question 65: Identify the correct sentence:



A. The girl burst out tears.
B. The girl bursted out tears.
C. The girl burst with tears.
D. The girl burst into tears.

Answer: The girl burst into tears.

Explanation: Burst into tears (idiom): Meaning: to start to cry. T 3% - FIHT (ST
TOT| burst a5 Past form 3 burst. 22T SIfdF B8 - A) The girl burst into tears. Source:
Merriam-Webster Dictionary.

Question 66: The phrase 'sine die' means -

A. half-heartedly
B. doubtfully

C. fixed

D. uncertain

Answer: uncertain

Explanation: Sine die (Adverb): Meaning: (with reference to business or proceedings
that have been adjourned) with no appointed date for resumption. FRaT 31 -
AfAUEFIEF Sefr. Ex: The meeting adjourned sine die. JT8aR 93T NOF $oF - H)
uncertain (Hff*6®) Source: Merriam-Webster and Bangla Academy (English-Bangla)
Dicyionary

Question 67: What kind of play is 'Julius Caesar'?
A. romantic

B. anti-romantic

C. comedy

D. historical

Answer: historical

Explanation: - 'Julius Caesar' William Shakespeare 95 a%f6 Historical Play a3}
Tragedy. - SFIATS ST fo@Te 96 (@ STHG |1 O1F FI1AT @ CTRPRATE AGF0 T6e1




PEHA|

Question 68: Do you have any money ____ you? Fill in the blank with appropriate
preposition:

A. to
B. over
C.in
D.on

Answer: on

Explanation: Have something on you (Phrase): Meaning: to be carrying something, for
example in a pocket or bag. IR I - (FH JT TSN (FI@T 3% 1771 Ex: 1. Can you
pay, | don’t seem to have any money on me. 2. Have you got your passport on you? o(J

796 AMEHTE o - (STIR N/ (6 F 5161 3Mw? @Ak, ¥3% T6= - H) on Source:
MacMillan Dictionary.

Question 69: 19.PNG

.8
.2
1
1

OO0 m>

0
5
Answer: 15

Explanation: 2log23 + log25 = 2log2(3 % 5) = 2log215 = 15 [ 5{as alogab = b ]

Question 70: 20.PNG

A. {2}
B. {1}
C. {-1}
D. {2}

Answer: {2}



Explanation: (x - 2)/(x-1)+ 1/(x-1)-2=0491, (x-2)/(x-1)+ 1/(x-1)=27, (x-2 +
NIx-1) =237, (x- 1)/(x-1) =2 ITANSI| x 9T A9 (FIE] JF (@2 AT 92 TNFII0F 57
FE| 92 TNFACE (I NS A2 | STOIR 7 AN (76 2 - 2

Question 71: A={x €IN|2<x<8}B={x € IN | x [T 932 x <9} 3@, ANB =

Fo?

A. {3, 5, 8}
B. {4, 5, 7}
C. {3, 4, 5
D.{3,5, 7}

Answer: {3, 5, 7}

Explanation: A={x €IN:2<x=<8}={3,4,5,6,7,8}B={x € IN:xﬁWTE:]H:xS%
={1,3,5,7,9} ok, ANB={3,4,5,6,7,8N{1,3,5,7,9}={3,5, 7}

Question 72: A3(% IBTE [F% (7T1F THFS el | STAT (FIF AF9 @ IFOEH W& FIF
FANNS FI© MA@ | I FIEF AT woo T, SR P AIH FOS (S fo7e1?

A. 38
B. Lo
C. wo
D. x¢

Answer: ¢

Explanation: S 3fd, 2 SEPTE n 35§ (771 S=¥e oot | SepiE, nC2 = 300 n! + 2!(n
-2)1=300n(n-1)(n-2)!+2!(n-2)=300n(n-1)+2=300n(n-1)=600n2-n-600
=0n2-25n+24n-600=0n(n-25)+24(n-25)=0(n+24)(n-25)=0n=25fFFn
AF A - 38 TRAQTEE 7F | [FTRT n AT A HoTSF] JOAR P NS 3¢ G (1S feef | A{5F
Tad: 3¢

Question 73: A 132 B 9f6 5641 (39, P(A) = 1/2, P(AUB) = 3/4, P(Bc) = 5/8 3, P(Ac N
Bc) = $97?



A. Wed Jan 08 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
B. Mon Jan 06 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
C. Thu Jan 02 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
D. Sat Jan 04 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

Answer: Sat Jan 04 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

Explanation: %N?W@Wﬁ P(AcNBc) =P(AUB)c .. P(AUB)c=1-P(AUB)
=1-3/4=1/4

Question 74: VI AT 1/(3x - 5) < 1/3 IANOIGF TN~

A — 0 <x<5/3
B.—0<x<5/2938R8/3<x<
C.—0<x<b52IJqYJT8/3<x <=
D.8/3<x<w

Answer: 8/3<x<

Explanation: 5&: 3193 A5 1/(3x - 5) < 1/3 ATAGINOFT STAEE- STHEE: 1/(3x - 5) < 1/3
= {1/(3x - 5)} - (1/3) < (1/3) - (1/3) = (3 - 3x - 5){3(3x - 5)} < 0 = (8 - 3x)/(9x - 15) < 0
= (8 - 3x) (9x - 15)} / {(9x - 15) (9x - 15)} < 0 = {(8 - 3x) (9x - 15)} / {(9x - 15)2} < 0 =
(8-3x) (9x-15) <0 =-3(3x-8) (3x-5)<0 = (3x-8)(3x-5)>0 .. x = x < 5/3 I
X > 8/3 .. oVl STET: — 0 < x < 5/3 AT 8/3 < x < 0 [T (JRG — * < X < 5/3 ;YT
8/3 < x <« (A, (TRQ 8/3 < X < * IAEF TR o REF (F3IT TA®]

Question 75: 9FW ST AT ST ST ©I5T IF O MY S F7F, S® TG *Mfel T
F(E, TI6 JEFF A6 NI 32 IIET ST (ST ST A ST G (THNT; ©IRCET TP T4
$97?

A. 522
B. 155
C. 225
D. 252

Answer: 252

Explanation: 3% /& fSITF ST AT ©T5T 7 © T 59 FF, 9 {6 T 7 FEF, »



G FEFF 0 T 972 S S (STRVT A AT ST G (AT | ©IR(, TP W= 9, 9, D
A3% S AT LY. S[OAR, ST AT = ¢

Question 76: 5x - x2 - 6 > 0 2, [T (FA0 FFF?

A.X>3,x<2
B.2>x>3
C.x<2
D.2<x<3

Answer: 2<x<3

Explanation: 5x -x2-6>097,-x2+5x-6>091,- (x2-5x+6)>09d,x2-5x+6 <0
qALX2-2X-3X+6<0 . (X=2)(X-=3)<0 eevvev er e e e (1) THFFT (S) T & T (X -
2) HATHF 3 (X - 3) AMHF TT| YT, TRFFT (5) oy T IW (X - 2) AMHF 3 (X - 3) HATHF
2| I (x - 2) NATHF 3 (X - 3) NMHF 2T BEF, x-2> 0 JT, x >2 x - 3 < 0 x < 3 THFIT (b)
o3 2@ AM S (FITIM2 < x < 32F| .". 5x - x2 - 6 > 0 a7 A2 2 < x < 3 AT,
TRFF (S) T8y T W (X - 2) HITHF 3 (x - 3) ¥ 2| I (x-2) <08 (x-3)>0%F
©@, x-2<03d,x<2x-3>03], x >3 JodR TNFIT (5) oy 2@ I 3 (FIeT I x <2
QT x > 3 7| 5 THF (5) 9T 93 ST TN AR | AGAF, TRFIT (5) 9T ST 2
<x<3

Question 77: 4x< /sup> + 41-Xx =4 X([, X = $97?

A. Sat Jan 04 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
B. Fri Jan 03 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)
C.1

D. Thu Jan 02 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

Answer: Thu Jan 02 2025 14:00:00 GMT+0600 (Bangladesh Standard Time)

Explanation: 4x + 41 - x = 4 4x + 41/4x = 4 4x + 4/4x = 4 [41 = 4] N 14, 4x =y SJedR,
y+4ly=497(y2+4)ly=4,y2+4 =4y ql,y2-4y+4=091,y2-2y2+22=097, (y
-2)2=04d1,y-2=041,y=24]4x =2 [y = 4x V@] 1, (22)x = 21 [21 = 2] 91, 22x = 21
J,2x=1..x=1/2

Question 78: 1/4 -1/6 +1/9 - 2/T + .......... G AR AW TN Fo?



A. S~ =20/3
B. S« =3

C. S~ =20
D. S~ = 3/20

Answer: S« = 3/20

Explanation: §TRI6F ¥ =4, a = 1/4 A3 SITF AN, r = (- 1/6)/(1/4) = - 2/3 <0
STOAR NTAIA ST AW (Y, Seo = a/(1 - r) = (1/4){1 - (-2/3)} = (1/4) [ (1 + 2/3) = (1/4) |
(5/3) = 3/20

Question 79: 36 (FNIF T ST TFF (FIEF NAF NEFF TN | FAHI NF F07?

A. 9vo°
B. Sx0°
C. »0°
D. Yo°

Answer: bo°

Explanation: 936 (F19 y X, ©IF T=d% (P17 = 180° - y TARNH, y = (180° - y)/2 JT, 2y
=180° -y dT, 2y +y = 180° 41, 3y = 180° .. y = 60°

Question 80: 0% fEF JAII T Soooo BIFT 3 TET Sy (AR FAT TN IH
G AT o T2 RONT H1 2, O 53 f% T Fo?

A. 538
B. 98
C. So8
D. v58

Answer: H)8

Explanation: (7337 A%, I1¥F JAHIF T = 0% JoaR JE-T1HF JTH T4, r = (20/2)%
= %0% Y = 3 IF A1} T, n = 8 Y- AHREF FTHA, P = Soo00 BIFT AT I,

cFq(a FHe, C = P(1 + r)n SJedRR mﬁ'ﬁﬂ'= %0000(S + %0%)8 = Soooo(d +
50/500)8 = 50000(550/500)8 = 50000(55/50)8 = Y0000 X (H)8 + Yoooo = (4H)8



Question 81: x = V4 + V3 T, x3 + 1/x3 97 N F©?

A. 5V3
B. 25
C. 5V2
D. 52

Answer: 52

Explanation: x = V4 + V3 .". 1/x = 1/(N4 + \3) = (V4 - \3)/(N4 + \3)(4 - \3) = (/4 -
V3)A(V4)2 - (V3)2} = (V4 - V3)/(4 - 3) = V4 -3 x + 1/x =V4 + V3 + V4 -3 =24 =2 x 2
[V4=2]=4x3+1/x3=(x+1/X)3-3.x.1/X(x + 1/x) =43 - (3 x 4) =64 - 12 = 52

Question 82: aFf6 (NFT NV (ST T 4iG FIHT 936 S @ Bl 2| (6 IAA
OF (A S Jb @ AF, ST (@13 (¥F TF G Wiod Wl AT S SFF SHoH F3EF
(F@ © b 79 27| O SFF SHol Fo?

A.>%b
B. v 3b
C.8%b
D. ¢ 36

Answer: ¢ b

Explanation: S 3fd, S SOl = F Fb (NPT (VF ST 79 = S Jb (NF] (T TH
G WIST T = (3F + ©) Th TATPINE, (3F + ©) = T3 + 433 8F + S3F + » = F + 188
WP + 53T - SOE = 0 O(FX + 8F - 8C) = 0 FI + 8F - 8¢ = 0 P + DF - ¢F - 8¢ = 0 F(F +
D) -¢(F+ D) =0 (F+3)(F-Q) =o0..F=¢ & F TN -> TTIESK 77| .". T Taa:

¢ RE

Question 83: O (¥4 fAf*8 (@ x (FNAF A Fo? -> 21.PNG

A. 54°
B. 72°
C.108°
D. 126°



Answer: 126°

Explanation: SIsTET S, J6°3 (F1 (F4° (FNEIF T | £LBDC (F1I6 J&°3 (F17| oK,
Z/BDC 5% (F1f68 5 2% (9% (I LBOC = 24/BDC £BDC = (1/2) 23 (%%
@17 £BOC 5% (F93 (P17 £LBOC = 360° - F@1 £BOC = 360° - 108° = 252° ZBDC
= (1/2) x 252° £x = 126°

Question 84: STETFNEC ST SNENH TNNS e T FAE FFo] -

A. 0%

B. Yo - %%
C. %0%
D.w-4%

Answer: © - Y%

Explanation: 528 SR F(, ©I%POINE: NENFREIE AT S ANAE 0o

AR T FHo] TS S3% [F, IFIEE: NENFTREIE JH AT IS Me©
TS FAR FHUFHOT ©% - L% JOF T ) © - L% FIH [AET TFECE SEY FAT A |
FAO Agricultural Services Bulletin - 128 Chapter 1 - Biological energy production

Question 85: NF AfHIT T 33~

A. 3ffe @@ 93

B. FTANG

C. IS AT FNATS ToIBe
D. S{MATS

Answer: SIS

Explanation: SIS ST 432 FIRNG [FEFT AFAT 7 27| B8 I, FIF-T1
cafe|

Question 86: *MNfad 97 AF{b-
A. TRTRES



Answer: STIGIS

Explanation: - ST, %31, fIssm, &1, o7y, [, e Fonfe SREES are(d SuRad| -
IE SRR | - (71RT, [ @, (FTEFH 2010 R (BEEITS THT SuRad| 5@ T
M sarfesTer 9%, AT T-amweT Crfer

Question 87: 935 A BfG3 TITTH IS (TN F67?

A. (T (T TS
B. ST

C. aIfega
D. &%

Answer: bRl

Explanation: &% (FTFF NI (FTA ISANS B3 TIR FACE ISAO (FTFF 4 7T (A
3o M@ 932 (FIFF ASWE AT = (W H A© ©fGS IR 2| MOFF EEIGIG RS RIRIEES
e ©fGS TR (T T B FE O (P ST (1 T o ©f%s T3
TRNeT (RTHE 17 §491 2T AF | An ideal battery is an emf source that maintains a
constant terminal voltage, independent of the current between the two terminals. An
ideal battery has no internal resistance, and the terminal voltage is equal to the emf of

the battery. a: - TG, a5, Te A1 - University Physics Volume 2,
Authors: Samuel J. Ling; William Moebs; and Jeff Sanny.

Question 88: MFSF ST T ST X(T-

A. RETE
B. JAREE
C. 3@«
D. free

Answer: e



Explanation: H$fe STICTE F&T ST 2 A | AFFeF SHCIT SHMIASTEN ZCT: -
R - 0% - 0% - TS - 9% - (A - ©% ATTT TG, 2R 3 TREEFS [F5
STRITIeT 2T | AN AR 218 Ao ST IR AR 0% - 5% T3
FIF-TT (INF TSI (A6 32

Question 89: 22.PNG

Answer: >

Explanation: (F19 S&N® SFNRAT = (A6 (Z) + ASEF (n) AT, I A 0T TH77 F47 27|
ARY, GATAT FE, (NBA AT 3 [ATSEFA T2 (1T, FIE2 GF A (A (ATH 24T
T Ot AT fASET ST TSI A | AT, O- 9T OFRAT 19 9% (AT AT b JoL,
fTSET eaAT= 39 - b = » Tz FIF-T (TN TIA (16 2|

Question 90: (76w (ofF zF-
A. w6 afsre o

B. M3E% afys o

C. aIfas afste

D. e afis fa@

Answer: STIRET WG 0@

Explanation: F, TROTEE, FAFE A78 TRETET FHIEF AT sifdw | AT 955
T SRRET AT | AT @ AW ATNF T8 TF AT CISTE SRET AfG 1fH7Te 73|
AET TRGF 9 G Y0 TFF IMPRET ASTS TR3IT (5102 I & v G 2@ Aoy naT
STRET AT | a: fFeard : FI7-77 (It W@ 20 6 SHIfIET AfG (afoa SO orrarzer
FE| AWIE I 2F (o e s | BT: aFH-79 T CIfe, SR | M9 I 20
6 SMAET AT @, I ENfoa s TameT FE| O3 fFoias

Question 91: FIfET-v»> (T 4T ©RAN-



A. DNA

B. DNA + RNA
C. mRNA

D. RNA

Answer: RNA

Explanation: COVID-19, short for “coronavirus disease 2019,” is caused by the novel
coronavirus SARS-CoV-2. Like many other viruses, SARS-CoV-2 is an RNA virus. This
means that, unlike in humans and other mammals, the genetic material for SARS-CoV-2
is encoded in ribonucleic acid (RNA).

Question 92: 29IET @ HA R3Y(F I 23~

A. TATGT

B. O7EF (F1FI02 7F
C. St

D. %

Answer: {5564

Explanation: Tu&T TETHA 8 TN T TS (MERT Ao SIfe T AMEF | ATAF
e T8 A9 T@EEA 8 I SHIPIE 50 AT | - TUlIST AR OIEE T HAE
fCBIT 938 - TRIFE SR | SN HIFRB, FIN-7737 CIfer

Question 93: [9@T @19 (@516 DNA ®RANHGG?

A. (B[S
B. (1fers
C. F1I&T-5»
D. T3

Answer: ST

Explanation: SISFHSENE W& A$31@ ¥) ST DNA 5125 @RAMEbe | Smallpox T
SfbasTg MaFonfed AT 9FTA (F15T (T6T TN 3T 2@®R| - WHO S>wo ST
6T f3fETa EFe (73| - SfEas 27 - (SfF8e SRAIT 1| (DNA Type) - SHCH
$>99 ST TS (W7 fEfRe | Sifa: AGITE (FeF S92 T (ofd FES




Question 94: RFID 3@ (/Y-

A. Random Frequency Identification
B. Random Frequency Information
C. Radio Frequency Information

D. Radio Frequency Identification

Answer: Radio Frequency Identification

Explanation: Radio Frequency ldentification (RFID) technology uses radio waves to
identify people or objects. There is a device that reads information contained in a
wireless device or “tag” from a distance without making any physical contact or requiring
a line of sight.

Question 95: (1 JTFE AT T FI2© T?

A. O ©1F

B. (F1-AfFTT FVae
C. STEE e
D. BT BRI

Answer: SIGF HRATF

Explanation: TRIF IAGF FNET AF6 TosTH, TS 92 TN (FFCEF AT I TR
TRAF A ST S O 3141 F15e 717 fde

Question 96: FFFTET TREE ST Ty NTHEF PAoN Ol F© 28I T ?

A. 80.¢° (.

B. w¢° (3.

C.wva.¢° (M.

D.3b.¢° (3T

Answer: 3b.¢° (M.

Explanation: - TRE S[BF (T SF9 SIS e I @617 932 TH ©rFeall -



THFTSTR NSTE ©IsTaT 39 ff2 (AT (@ 2 ©F TR Y2 Sl SAFE 27|

Question 97: f®F (FE6 anti-virus TH63TTF J7?

A. Kaspersky
B. McAfee
C. Norton
D. Oracle

Answer: Oracle

Explanation: Oracle database (Oracle DB) is a relational database management

system (RDBMS) from the Oracle Corporation. - McAfee, Norton, Kaspersky -
MBS RATT TSN |

Question 98: (F1F BT 2-(N3T IFTHT TR NFE?

oo Wy
@ * *

Answer: @

Explanation: EFEAF (12 AT 2-(2 2ETT AFST 6] (TR IR (V@ 9F T AFNMEF
AT FIR (F1 16T 71 FSIEBIT GIOTST o1y T frsa sy Tafe | 33+ B e
BT AF | TN WD BIFFIAIT AS 932 GO I 2N (ST (3N | (IHAe
robithakur@gmail.com 33T robithakur 2T 2SSTEE A3 gmail 2T (STHES (A2 |
30 B @ ozt a2 NFe 271 TIN: BT 3 (FSMETST 3YfF, aFTT - T (Ifef |

Question 99: Keyboard 2432 CPU-a9 (& (19 "Tmlw(© data transmission 23?

A. Triplex

B. Duplex

C. Half duplex
D. Simplex



Answer: Simplex

Explanation: G161 331 @ $97 fofs $@ TI61 T (NG fod(t O1sT ©1sT FT
JF | ASTERE- S | T (Simplex) X1 T%-GE (Half-Duplex) 8 © | Hef-SEs
(Full-Duplex) fSasT: S3@ A3 TI6T (FACEF (NG TN Taio@ I7 27 e |

Question 100: Blockchain-a3 a6 block Ff ©¥7 334 33@E?
A. A hash pointer to the previous block

B. Timestamp

C. List of transactions

BRCRIGERERIGI

Answer: ST@F NI

Explanation: 523 ST T, TG AR 4@ (52| A6 ©XF RIHT FAF AB(6 @™
A2 Y@ Tae| 4 Thiete o ST & 9B 77 96 (B3 AFIE NTHT T 27| T
ST A, a3fG STENE Block 4- F) A hash pointer to the previous block %)
Timestamp a3 9T) List of transactions 4% ft SR ATF | ©EF, AFHA (G P RG] T
3®2 ) A hash pointer to the previous block T |

Question 101: faEa (@96 Bluetooth-37 IEEE standard?

A. |IEEE 802.11

B. IEEE 802.1

C. IEEE 802.3

D. IEEE 802.15

Answer: IEEE 802.15

Explanation: Wifi 95 IEEE BIST6 IEEE 802.11 Bluetooth 95 IEEE o016 IEEE
802.15 WIMAX a9 IEEE 531516 IEEE 802.16

Question 102: SobSSSo RN AHNET TGS (ST NFH (F1Af6?

A. @8
B. S



C.z8
D. 8y

Answer: 8%

Explanation: IR (Y@ TIHE T2 FIRT: IRANS (AF T3NS AT FI6T FI9
Y AOTF TFE X T 8 FH© TS| S FIAIF NI FAT FA T 2 95 IS 0 T®
TG T | AFF FAT RFHE 20 FIET, TIF FAT RFHE S TE], To6F FAT WRHOE
s T 89 FH0© AE | AT STHE (TS FAE S& JRAN STRAN TgeTs wfF Je
TSI TN 101110 = 1x25 + 0%24 + 1x23 + 1x22 + 1x21 + 0x20 =32+ 0+ 8+ 4 + 2 =
46

Question 103: DNS AOIET F19 2(R @@ address-9 @39 F47I

A. Email, DNS

B. MAC Address, IP
C. Email, IP

D. Domain name, IP

Answer: Domain name, IP

Explanation: (SIGTH (% Je(0 7o (F19 SHITREGH A2 JATT| (T3 livemeg.com a3
(G (N FITG FPAOLIAE 3T TONET N SRETST I FI© T2 FE|

Question 104: f9d (F19G Open Source DBMS?

A. Oracle

B. Microsoft SQL Server

C. Microsoft Access

D. MySQL.

Answer: MySQL.

Explanation: MySQL 2% SH{ZF ST (TN SI6TES MG 6N (A6 STFT FOMETT
A7 T (Tee, FERBRTT a3 NG F471 21 Fa: MySQL 97 AR 26

Question 105: f9& Job Scheduling Policy SR &5 (FT16 Starvation (@ 372



A. Priority Scheduling
B. Shortest Job First
C. Youngest Job First
D. Round-robin

Answer: Round-robin

Explanation: A starvation-free job-scheduling policy guarantees that no job waits
indefinitely for service. Here, Round Robin — this gives all processes equal access to
the processor. The other techniques each select some “types” of processes to others
(e.g. short processes, high priority processes etc). 3G University of Liverpool a5 %6
(FTFEIEF ATt SRCTH (6 TCTF S DTSR R T T (W M 20% CTTT
(@2 (31 TF@| Round Robin T&et® F(e7F FTETR (@ GROF Self (08 F57 (FE
(W AT | O, (F AT CPU BIRY (M@ AIFF IACTH] FA(© 2F 7|

Question 106: f6= (F19 5f& Face Recognition System-17 SXIIF ST Aa FE?

A. SRS (F16R a1

B. Applied Internet of Things (loT)
C. Virtual Reality

D. Applied Artificial Intelligence (Al)

Answer: Applied Artificial Intelligence (Al)

Explanation: Sfbfame 2e6mE=T: - 436 Giffa 334 Ffasem 1763 fite 8% 3@ o3
(6@ I 27 Artificial Intelligence | - SfHRe AT A6 A7 TS HIZNT AT OIF F&T
Face Recognition System, Speech Recognition System 2e7i{w|

Question 107: f9a (F196 output device 93?

A. monitor

B. speaker

C. printer

D. microphone

Answer: microphone



Explanation: 3970 fS®13%: (I5F fEOREF AT FEISHIE SI61 IT ©FF 296 T FAS
@3N I, (TSENR 2 FEoRA| - (@16 - MO - AAfCF T fAT1R - SIFTF - TR -
TR - AF TG - TRE (57 - STIFT - Sz Tenfvr|

Question 108: AT @@f% 936 afedwa 8@ BFn AT F@E?

A. http
B. www
C. HTML
D. URL

Answer: URL

Explanation: URL - 435G S@IRE T (O (157 oo URL JT1 URL a5 Tof=eT 3¢ -
Uniform Resources Locator. URL 97 f&={G SaTel &F; (-
https://www.google.com/maps - & S N (https://) T TGIF, - FOIT AT
(www.google.com) XET (GTRH (A, - TE@F 3 (maps) 2E 1R A7 97| HTML 2T
Hyper Text Mark-up Language I World Wide Web(www) FTSSIE B W+ J1 3T
(2@ ©FT ST 3 HAMb I (AT IR FEA | Source: ©F 3 (ST

S (AFTT - T CIA), ST NS T2 |

Question 109: Y63 (@19 23f& 'Pay as You Go' WSS NG Sl FE?

A. Internet of Things (loT)
B. Big Data Analytics
C. Client-Server Systems
D. Cloud Computing

Answer: Cloud Computing

Explanation: TR 2606 9% “HIOR6 AT (GRB(NIST) AT (@ FIOT F1GHe @
(FolF o 8 fAfoy WFEEE F RO NCEE MOLET FAF AT AF6 NG M@
TS © 6 @Ry AFE- §) e (FERFAT 2) T9-fENT ©) (F-3S-28-(5T Source: B
8 (ST SYfS(AFTTT - FITT G, ST N TR |

Question 110: (J TRITF AHF RAGS 2T MNP (IY AEETNR (F1F 956 web server
=7 Fate ¥ 7F (6 F e =fAfee?



A. Phishing
B. Man-in-the-Middle
C. SIEF (TR 97

D. Denial of Service
Answer: Denial of Service

Explanation: DoS- X 9% S SR AHH (I JIFE [ SOREE ol
FIRFIEST IHTI FE AFD FEICHE I AW [GORNF ©F ST HIRTFET F1% (AF
T | (AT FETSOIR HCB 1 IBEEE SHINREG 92 S@3Ho SN AT P f5E6 A1
TREGA NN FHFNE JF 5ed, I A@S (F@ T I 3@ (07 27|

Question 111: f[AEF @S GENAGE Access Time SIET FH?

A. Cache memory
B. SSD

C. RAM

D. Registers

Answer: Registers

Explanation: FFISEIET (@RTOIE (TENE AFCTT TIGEE FH| - FPTOLIET TCTHET NETS
fFee GIENTR S, TCTTET TIEE FI® NE (@EE6E, 97 ST61 TR =G geapEs (3|
HTA FA© *ME, ©F 5o ((SB1 T=r& ~A1G) a3, 35|

Question 112: fawa @ GRS fSRHE1T SsayeaE amees ST JfaaoE 970
3?7

A. Router
B. Switch
C. HUB

D. Modem

Answer: Modem

oI an

Explanation: J(GX- (from “modulator/demodulator”) TSGR GG TSYSTRTTT SITTTesT




ST T30 F@ A3 92 ST T AT@ 916 (DAC - Digital to Analog Converter) F15&
f&=1 31 TFT A | @SN FEAGEC ATATetst Fs1eAvrena fSIHGreT fSHsrerye sifFere F&@ a3
92 FIGF & 7@ 936 (ADC - Analog to Digital Converter) S5 {55 7 TG AN |

Question 113: fa®a (96 multi-tasking operating system 53?

A. Windows

B. Linux

C. Windows NT
D. DOS

Answer: DOS

Explanation: multitasking, the running of multiple programs (sets of instructions) in one
computer at the same time. Multitasking is used to keep all of a computer’s resources at
work as much of the time as possible.

Question 114: fT81F (lever)-1F SIFNY % FA© TAQHTF I F6 TOT 35 5
FH00 E? -> 23.PNG

A. 30 TIST
B. 25 oS
C. 40 IS
D. 35 T13T

Answer: 35 05

Explanation: &&= I Y 201b 97 &1y 3% d 3, FO1@EE S =18 201b 97 3% 77
d 3@ | S[oR, "= 1 et 301b A7 Tels 77 d/3 M FE, fFerEa T =7ef 779w d a7
&0 ylb FIEHTE, 30 x d/2 = dy y = 15 Frer@a SEsm 3% TE 5+ ffer@a o e
AN 3 (201b + 151b) A7 351b 3 A TE| .°. OF TaF: 35Ib 3T

Question 115: ‘8, B, 9, ... 41T TTT6] THF I T?

A5
B. ¥
C.q,



D.d
Answer: 94
Explanation: ¥ STT & = & I $ INT AT (W WA TR T A P = P (% & AT /A

CERAGITETI= TR EINTF/ATCT RAOITY T = F (= © INT [/AT T
;| 8, @, o, ..." I TII0! IHF G '

Question 116: A" 'B'-35 (6@ fZ3< F1& F900 ANF; O] 70 43@ 36 F18 8 U ¥
P TME| 'A’ AF] FIAb FOME PA© THE?

A. S o
B. 8 o
C. sa fo
D. 35 fae

Answer: 3 oG

Explanation: A %51 $181 & futdl $AET B P F197 33 i 9 M| A, F o & S6 F15
A, S T FE S/F RT A[TE, B, 33 el @ o6 F19 B, & e @ SA3F IRTA 8 B aF@ S
O @ (S/F + S3F) W T (0/3F) WTA 3 B aF@ (03F) MTFE S T A 8B aF@
1 STEsYef ST FE (3F/0) A | TIFANE, 3379 = 88 FT, F = $8x9/3 = 35 A AF] FIHMB
& Fa00 M|

Question 117: ‘DRIVE is to LICENCE as BREATHE is to ! 9% TEEF AT
@ 396 INE?

A. INHALE

B. ATMOSPHERE
C. WINDPIPE

D. OXYGEN

Answer: OXYGEN

Explanation: ‘DRIVE is to LICENCE as BREATHE is to OXYGEN .’ i@ sTifé DRIVE
N BT &5 LICENCE M| e[ TS, BREATHE 1 (73T ey OXYGEN =0T



Question 118: 336 ANEHEF 80% FHGIAT ASTAAEIG, AATE FACIAW ¢o% I
97 SRR o T (TFLIOIG | AoFHbF Fooe FHGIAT STEIG?

A. vYo
B. 380
C. voo
D. Svo

Answer: Yo

Explanation: @ 34, S (N6 FHEI A= y T | ARSTIEIE FAGIET = y 97
80% = 8oy/Soo M FAGIAT AT = § - 8oy/Soo = Yoy/Soo TG FHGINIT M,
STOYEE FHGIAT AT = boy/So0 AF €0% = woy/Soo TAFNF, y - 8oy/S00 - woy/Soo =
Sbo JT, (booy - 8oy - Woy)/Soo = Sko FT, Woy/Soo = Yo JT, Wy/So = Sko JT, Yy = Yo X
0/ ", y = Yoo EAR TG FAHGIAT TAT =0oy/500 = Vo X H00o/500 = bko

Question 119: I ROSE<? (7727 2F 6821, CHAIR-(F (141 27 73456 133 PREACH-(F
(<71 27 961473, O SEARCH-1F (F15 997

A. 246173
B. 216473
C. 214763
D. 214673

Answer: 214673

ExplanationnR=60=8S=>2E=1C=>7H=3A=4|1=5R=>6P=>9R=
6E=1A=4C=7H= 359oaR SEARCH = 214673

Question 120: TENF BF© & (@ T4 INE? -> 24.PNG

Answer: 26



Explanation: S3 6@, 32 + 22 = 1337 ft(@, 42 + 82 =80 .". wI fo@m, 12+ 52 =26 .".
3T Tad - ) 26

Question 121: DC DE FE ?? HG HI SfA®d M@ fod 31« (1 7396 avE@?

Answer: FG

Explanation: DC — DE a5 (%, D 9398 a1T C 8 E 97 J&s =S5 S [F19 C 979 D;
D AFF E; C 8 E a7 9&y "MF  f6 3+ - D] FE — FG 99 (F¥(@, F IfAIGATE 8 G a7
A NAFT S [FIFM E AF9F F; F 9999 G; E 8 G a7 My "MAFT S 6 3o - F] HG — HI ag
(®@, H IAEISAT G 8 | a7 & TR S [F1F0 G 97T H; H 939 1; G 3 | aF &y NS
s 8 3f - H] [oaRk TI@EF 3@ FG INE|

Question 122: ‘gfe@fSrery TT=T FT AF?

A. topic

B. examination
C. party

D. participant

Answer: participant

Explanation: Participant 31 ST/ sz 1t RIGT & wEfTeT S8 | - Topic,
Examination, Party - 21518 Sfe@eT 20 |

Question 123: a3 2 WRAE fEF I, O N 79T AFNF (REF (RE ={F ([REBT
T /T 751 FH?

A. (@1 TF (@3
B. 516

C. =@
D. o



Answer: ©12

Explanation: w41 U W19 AFA1Q (R (J1QT) ¥ (R(T ------ O .. WY AFNT (REF (= -

= foqa 1Rl

Question 124: A F, ¥, 5T 8 § 359 751 867 W&y (FE6 TH@ETF o7 I INE?
->25.PNG

Answer: ¥

Explanation: BCS_16.PNG

Question 125: [AEd @ =G foF 43@a?

<

Answer: 8w

Explanation: 2T, 357 432 ST foab2 9% (Planet)| 9, a7 W& &6 "I 97" (Dwarf
Planet)| 200 ST 80T SET ™I TEE, FONF A61E I3 9% (Dwarf Planet) 97 2@
N | ZFET 5T CNFSSE AN, TFTIE 8 FHEST F1T ANET FEFF0 I 57 AR | TI:
AFTIT-FIWT (AT T IR (@16 IR | TN, 51w 936 T (Sattelite) | T2, 93T FOF
Tad F) bl

Question 126: f[A®a F, ¥, 5T 8 T 92 86 fIFg I 17 & forag TN foFd 51 &
FF6 INE? -> 26.PNG

AT



OOw
5 2 &

Answer: ¥

Explanation: BCS_17.PNG

Question 127: AT T=SEE WY ©ft THENAT | (@1 {6 Am]?

A. Conventional
B. Traditional

C. Conservative
D. Peculiar

Answer: Peculiar

Explanation: Conventional (Adjective): Based on or in accordance with what is
generally done or believed. IR 5% - sTofsIfo; Ao, Ao we| Peculiar
(Adjective): Different to what is normal or expected; strange. I o1% - (&7, fafta;
aIefeie | Conservative (Adjective): Averse to change or innovation and holding
traditional values. IRAT % - THTT; FFISAI@ET| Traditional (Adjective): Existing in
or as part of a tradition; long-established. T a1 - PFETINRL; TG | oANR,
Conventional, Conservative 8 Traditional - TS 5 SATF T THAGNAIT | A5,
Peculiar - foF M@ |

Question 128: IRATWT RIFHT 2@ (AT 7T F1F 399 NI =2

A. T A

B. STaf& A1 (G
C. ST P TS

D. 9.(3.99 aIFd I8%

Answer: 4.(%F.9% J4F 8%
Explanation: $¢ f6tTES, 293 STE SrEIME TSI 20 (77 ST F0e %9

AN FEN| - RIIH FNT IHT FEA - 550 (0] I57%, (TN J[OJF FRAW | - O
JYTFHE - BTAT TSR I A2 GIONS el AT AHT FEA | - IFNT (@ 5T 57




SAfES (T8 I TS FEF 1

Question 129: IRACT (FA6 TRF (&6 q7?

A. Soo BT
B. Yo BIT
C. ¢o B1&FT
D. : 51T

Answer: 3 BIF]

Explanation: IR IRF (I (I (A6 (IF FH1 2T (IS TRF (@16 A AfHbe| -
AT (G IRT@T FRET ToA @ THF AMF | - TONH (W07 {16 BRFP (@16 T6fo J@=|

Question 130: ‘@S IS’ fFEIT I 72782

A. =X JOTE

B. 51 TIov"
C. 3 Io"
D. 563 &6

Answer: o3 &6

Explanation: - The secondary market is where investors buy and sell securities they
already own. - It is what most people typically think of as the "stock market", though

stocks are also sold on the primary market when they are first issued. 32713, Hf& IreT=
157 AL CTFSI THE B e F91 2@ A | IRAGET 26 6F 93648 T@=|

Question 131: IRATT TTFIF (F1F ATO (IF TS TOT AT FE?

A. STFF

B. ofea

C. I -TFT BF
D. 3T SO F1

Answer: 3 RIS F9



Explanation: XTI TFFNEF AT FIGE TG TS 2T 3N KA F I SIG | -
T TN 16 (VAT- Value Added Tax, 7 SRS F) I 2F- & TFTIR, SHDS NI -
SIIG A1 NP AP TS FA|

Question 132: AT $HI=wT A It fRT?

A. JRTO1FO
B. I
C. ffter

D. (A9

Answer: (99

Explanation: - X NG e 3097 (@ afShe ION J&5 AT - 2| -
SIS AT ST IR AR Y00 A | - AT TN HHEFT T (9| A
TAROST (M BT - (T ToAFIT VT Noon TAR| AE@T Mo BT Stoo (AF
fAsB5 Sooo I MY (AW (AFTIR Abw 2|

Question 133: IRAF AR F957 (FAG?

A. A
B. ©Tfey
C. (TS
D. 7

Answer: T3

Explanation: T8I I IRAT (@ 9FF J7 NS FNE fRE 71 ST IRAT ©3F FSSEN (A6
@16 0T o fREm 597 (06 (b SR STw AN AR CS | NBIT IRAH Sersrw SR M
TATT: - I57 - TEY - TOL - AJ@ - A - 5UGT - SIG - TG - (NG Fgfo | AT
TS AN TSTOIH A 7 (N BT TIGE TG S|

Question 134: BT TIFET I 77T 3 AfFFg FF@T0eTa Wiideg (& feer?

A. 2.935.99. FNFINA
B. OTAW AS&ReT 39T



C. 3. NAF At
D. OIS e Rew

Answer: OS5 M TG

Explanation: 931, SIS fT37%F 8 AfFsga [Fensa wiig Iawe oy 8 afFFgan
NI M TIE JINET @@ | - JEITE NTFF S qa ARG 55y 51fde
IRACTR S NP | $29S W 3 Wb FH T (FFF 577 So Affe 4 77917 e 271 -
5295 ST $9 fFT (NEFTF (SeNT JIAIST S I TP 7 57T F|

Question 135: IRACTT IINEF (F1F A= AH-[FE To| fAf5e FAT T@@?

A D (R)
B. vy (})
C. 93 (d)
D.3% ()

Answer: b ()

Explanation: IRTGCTE SRIFTET GOIT AT 202 - (Nl AFF T3IF | - 92 T
G5 3B (Y0 G AH1-TFEF Fe] 978

Question 136: (FIMST-4> ST T A F=9fo SIEd N IRAHE (@1 SRS B
@ §fe T5fae 23?

A. @fFSET
B. $IF
C. asfyy
D. 3015161

Answer: (56|

Explanation: ST@ 3575, 203% SN FEHAGRIAN (FF© IRATWCT TNHIET ¥6 Sied
fEReTelE BT (AN T8 MW@ @S bTFR A3(6 fa-TH RIS §fe I8 @ IRTOCR
PR - Siea AT TS 9o oS ST T IRANGF P ST (FPAfersr 3
ST T BRI FENETT 933 ZACTBT HIHITOCFEACTE T IRTT NIHTH 93
§e I FE|



Question 137: IR F© JE OIC-27 HUHTIYH 1O F(H?

A. 5299
B. Y29y
C. v2Aa¢
D. v>98

Answer: Y598

Explanation: >4 STEF 3¢ (HFT NI@E TSR TS 2T FCHTS SRFT (SM2I)
FfefPe 27| - 97 TIIwIT (W NAE@F (T A5G | - SIARMNT TONF sy (7 - €9 B

Question 138: IRATECT (SGTF 23T N IIT F9?

A. 3D
B. %
C.xo
D. v

Answer: Vv

Explanation: IRAGCTE ST 5@ ©1T e A6 T (SIB1F I NS &
ST ] AR | SN - SR (SIBF-SITF ARG G (FHTST (S) TFITTOE (SIOIEFF
fSfat® TTwa 16 oqfde 2@ (}) @ TS A 6@ 5 [F41f{e @@ FTear
ATFTR (STOIF OIFFIee 22JTF ANFIA! 2@,

Question 139: IRATECTT TN A3 FAFGT 2T~

A. SR

B. SR S6F

C. a4« faerasife
D. S (Sa@T

Answer: SGf (SoEs

Explanation: SETCTS 4T SR FHPGT IR - SITBI (ST | TAIHAT b8 2 ey
"SI (ST oI AN FAT TR



Question 140: ‘1 §FNG @ YT S T2 fF8?

A. fRegef
B. 3ghlf
C. frgenf
D. (Qmanf

Answer: (@&
Explanation: - &l 57&e (Faaid ¥ AT - Qa@d ST M@ {fe &7l aer

AHfbe | 9% fd1er Mo ([@mma Mo 7= M| - ([AHE TI6F (STod 57 bo I=T I
forder «ife FE=|

Question 141: ASfAETTTH Tre1fed MTTITIR 'AFT WIS I FI (IRAI?

A. FNEREG
B. (&S fIe1sr

C. ST TS
D. A&t wer

Answer: fI@Et wer

Explanation: - SfSfAfSgNe srre@ g ST I 2F [{E@E 0@ | - TF© T/NATOF
gfore HEE ver8 TAFIH TErd T o F@E- = JATST1| - FIF1F (I (TG 3
TATS AT qT 2 OIS [NE1ET 7 =] NAS 19 91 {799 NaF1ET ST @ e
STEFTEF O7F 517 B FEF A | - OF TONA NN STTS@H ST TP 2 Gel1F e | T3
(TRANS 3 I, TEHF (M2 (NSTCHT 33|

Question 142: 513 N6 FCMETET 9347 fad1foe 37 & RET?
A. SIfels]T 2%

B. ST (AT
C. S RIS (ATPT

D. (2w 2ifes

Answer: (N2 RIfes



Explanation: - f3f5T ST L b8 S B1FT (Ao 51fd® 27| Af6@ oo S N

I FABEHS FT2T| - S8 N ST TOTF (S GIFT 6 FCIEIET FA
16 Sefde 21 - 9% [ T6E Crarw 2fes (37 16w 24| o 2003 T 8 affe 5@
TIEF TIIAY TS FEA| - 2053 AMEF S (FFIME 6131 e FEMET (e 61971 Sex ~fe
FENETA 3 BIT ufssel 6 FEAETT N I1a] 8F FE | (SA: bIT ufzser NG S
STIRD)

Question 143: IRTOCT (F1F NT ITF ©OT 51 7?7

A. 5D
B. 523V
C. 5319
D. Y9%%

Answer: Y92

Explanation: - STIf&@ farsTar F35fba o™ REE TNSEAT SfEvHeE@d JHE s539-2b
AT (TCT TN ITF©Te] T9e F35(6 5] 27|

Question 144: 93 (ECNEC)-9 T4 ($7?

A. SfEFga Fat
B. arwat

C. Fnfswarat
D. Syat

Answer: Hﬂﬁ@

Explanation: STel¥ sftdfes ffHAma 13t FHIf6 2 ECNEC (Executive Committee of
the National Economic Council)| - ECNEC S>3 ST 5ifd@ 2F| - a7 S/ 36
AN 932 [IFT GIITHT AAAG | - AFE@ NP A© ¢o (FI GIFF SR 739
ST, RN 2R TG, SHIA SHGF AL5S S Fgfo FRIIfT o573y 27|
(Ta: AfE=fETw fFersT 8 IRAEan)

Question 145: ‘TAFT (F|F TAGT AF6 TFF?



1391

Answer: ST

Explanation: IRCCTE e FEHC SEAEIST S Se: - SFFS - FIF - (AT - AT
- G - (NS - (SRS - FHA TS| TIN: IRAT FH S TS (AIS) SFINZG |

Question 146: ©%F AMYFIF NI (FT ST 51 T7?

A. RooR
B. 00y
C. 305
D. 00

Answer: 00

Explanation: IRAT B AEFH A2 : 200 - 3D 6, 200> IRATT TSIT T FOF
T AEHFF IARA, 200> APT | - ¢ fFF, 00> 92 ARG AN A BI6T FHfe 7o IF -
b afFeT, 200> ARAG IRATT (SIEEG TS 2F| - ARAT - N7 b, 28 98 3¢ THfow AT
HTAT Y0 IMBTRF, Yook BIFNE FHFF IR b, 38 472 3¢ HTAT ST JFR, 200 OIFY (W
FIPH 2| OFT A AR S, O SAEPTH N[ (N1 NS | GI: FRACTT
(STTS6 8 TRATTT T AP SN2 : 00D

Question 147: ([T TN 77" GeHalb ATCTN FE-

A. (SR AT

B. IISAT TF I
C. AT T

D. JIRETR TRFHW WA

Answer: AR (R AW

Explanation: (S AR 7 96 IR 5affal aft 203 T IR ffe 73| -
foamBy 3 ATHCTTT FE - AOSTAN S IR GeiiHa (3Tl - WHATR GIREH J7|




Question 148: f (NIPORT) Ft 3@ SEFel AfSH?

A. TN STEFAT

B. &4l SIE@FN

C. frnfay saxen
D. ST STEFeIT

Answer: Sy SIFFT

Explanation: NIPORT (f@t15) a1 National Institute of Population Research and Training
T IRATCTH ST fTATF SO &I SO | - af6 3599 W I°g 8 I Fervrer
FFITIT AN A SfS® 27 I 11 NI W% | - e Tr5y 8 I3 Fetvrer
TN ST (ST, TS, IS FT 3 JY S TF FHPS-FAGNNA W 3 TFel Jad
TEFS ATHER 5373 FE A | (S[@: NIPORT SFIHIZD)

Question 149: TS SAGITS! (FT BT ITNIN IE?

A. STTE-2fsa
B. IRSAT-TRITE

C. TRHG-TwaS
D. FerTR-ferssd

Answer: FTSRI-TeSEE

Explanation: 8318 FRATCIH AATSH 4 IS | - 93 JENOF NeF FSTRL, FJF 3
FRATST R STT I - BF13 TS FGX SRR 341 I¢71 afs G ST e orgsfe
93TS ST 8 X5 S| - A ST foTerT AT (@31 SFFS ST T F ¥ ot AWz
ST T6eTe FA®| (SNTA: Ju T8I ST 3 Ffo : T (I)

Question 150: Y4 STET b TH1F FIG w5 a¥Afo G378 f%eT?
A. oft
B. sfb
C. %
D. oft

Answer: oft



Explanation: 534 SIS ¢ (HNE NFINAT TERAT 5797, CTH JBFH T2 b G%]
(T |

Question 151: BT IRTT THOE6 ToNF (| T AT sIfde &2

A. GIFT 8 FiaT

B. FFAAMRT 3 (HarTell
C. TTHAHE 8 IATIT
D. FaET 8 (@R

Answer: FfET 3 (@R

Explanation: - (ST 438 AT FINA-(ARATATAT O AP f&eT STASGA AT | -
s s fas@Ta RIS Sre (TG ABR-2S [Fe11)a3% Wit (R Ry Fs1pera
97 PGS T |

Question 152: 'Untranquil Recollections: The Years of Fulfilment' ¥ s=foq (2%
*?

A. SIferIF TR

B. 987F SR
C. e BT
D. (F2 GRS

Answer: (3R (IR

Explanation: Si515& (I3 (IR JRA@A ofdifefaw| - fofd Yo 97 w1 Imnfer
STGICIATW AN AAye ST FH @ | - i (o7 T AT SIeeF afedrer
CIEMF| - ST S22 TMT SIINTF TIFNEI ATrod SIAWYT @ | - Untranquil
Recollections: The Years of Fulfilment 33fC ©1 dftw | TG 205¢ ST T38| S
SIS SIINRG |

Question 153: 1= AMIF JF (NRFHY CT (FTA (TSR T G TR FEA?

A b FFT
B. 999



C.>9gd
D. v 999

Answer: v 939

Explanation: SIF0T® 2% 515 FFF 77 TRFA CT4: - TS J7 GNRETT CTE S 36T
S S0 b, IO (SeMF IHS25TS AGTRT FZFAT NI A | - 51T SIS 12 featera)
FIF AT ol (SATQS @] e Rt PrIEE IR-31 2EE A@HOT TN [T Stge
A SST7 @ NS | - THNEF 2 7 B aete AfFeraaa1 ofF v T Ma vy
T=T IO @ FA|

Question 154: fAETE (F1 ST FRASIR SO0 22

A. 5599
B. 00V
C. 0%
D. R0M¢

Answer: 05¢

Explanation: IRANCCTS SIHCT $H BN T 27 b I (A 20 IJA 2055 | - 93 BHIE
G fooet ‘1A S oot S TY7 IR SIS |

Question 155: ‘AT (FF TACET SO G2

A. g

B. RIS
C. (A=A
D. SFF

Answer: O

Explanation: IRAWE STONET HNEF S0: 1 - IJ16, SR, (THAF IRAL-S, FIJ4],
AN, SIS, AEF-S, TR | S - SATF-CNANAFT, IATFT, (AT, AFIF, A, FIPA,
I790 | BBl - TGA, I, BF; ©eTl - FAEN 3 (BT B! - Frg, IR, MaF, T,

3, g, TEat



Question 156: IRANTT I (@1 Aejreawm ‘AMAF ANF FFS"-97 FAT @ Fa7
TA@?

A. S
B. vt
C.vv
D. ¥q

Answer: 9

Explanation: S:fJaTe IM@c@ ‘A1 anfi F3fe” Mo afde z@m| a3 wifFe ey -
val

Question 157: (FEG IRANfAF o 9972
A. TH 6T FhHreg

B. (GNEW, "NAfeiF ST FHrTe

C. FAERTMF 8 AGLT (SAET

D. (CXENE, NAIMESTT FH

Answer: (GITEWT, NAINHFE FHRHF

Explanation: - I fYd5a SRR, 721 7 [F3SF 8 T35S (FAETF 8 ARGHH
(SATET), (CTH 3 T9T5 TIFNI T3 SO, 203110 - IR TRfFEnfEF o) -
(CIATTWE, MAINEFTT FRH STRIFENEF oW J7| - TFIEFF FRre a6 T2 FfiTs
FePF| a6 200 T IOE 2T | - ITSAH (CAFNI - FIHT (S, AT | TH: IR
RN 8 TAINIFE FRHT SFITRG |

Question 158: 3FTH-24TF JGIANOF SUIAPH TS VMG SONES JMRAT (FT AT
FfHfow feer?

A. UNIMOG
B. UNICEF

C. UNGOMAP
D. UNIIMOG

Answer: UNIIMOG



Explanation: UNITED NATIONS IRAN-IRAQ MILITARY OBSERVER GROUP:
UNIIMOG - UNIIMOG was established in August 1988 to verify, confirm and supervise
the ceasefire and the withdrawal of all forces to the internationally recognized
boundaries, pending a comprehensive settlement.

Question 159: ABHfEF slred WAy @ ©IfFE fde TJ?

A. sa fooEa
B. S¢ JI®1_/T
C. St JoFT
D. S¢ (699

Answer: ¢ (N3

Explanation: SIg31e% sered s SfETRT F$F 1009 N (¥F NS (TISENS TToF
S ISR Y A3 STTed GEF SRS FAH Sely 6o 9376 [0 ey, J7 346 T2 'S¢
CTCETF OIfEE Tifere 2|

Question 160: ZFTER 3BENAT-1T T ST (FTNI?

A. B3

B. 2@ifd

C. TS
D. Sfifer

Answer: S|

Explanation: ITST@ERT FBEaTT1 Afefafefes a3t agefes yafe et s - aft
S2»0 W JfSfde 271 - 97 AfedTel o e | - Tuawas - e, S| - aff o e
(A ST I gAfS W= S (CPI) ST F@ AM® | - TRATT THF 3008 W
fEon? a7 yaife 41ae Y5 AN g e 27 | T3%: foons sFIRE|

Question 161: B9 (Y@ FTP© IRTATT (NIRRT FETSTRS 6 WETe (@1 (=72

A. FET-F
B. *T:-F
C. Sama-FI9



D. -

Answer: -5

Explanation: - IRTT 205G NI S F1% (A 46 AT FI FE| - 18 AGTF 205G
Sl mfere ameTa Frme e Frrans TRefEe 9 IRAWeTE F1= 23@F FA71 27|

STAGIRS od TS FH 2T 'II1@r 3% ‘SIIM@T |

Question 162: I?ﬁzj!\e (TG (PR I3F7e?

A. w5 SiF st

B. *TIE NRMSE

C. wfSpar AEATFT

D. aGH SHTSIET ST

Answer: ATSd SANTSE =0T

Explanation: Djibouti, small strategically located country on the northeast coast of the
Horn of Africa.- - It is situated on the Bab el Mandeb Strait, which lies to the east and
separates the Red Sea from the Gulf of Aden. S3: fIGIFT.F%

Question 163: @ @6 NfONET T3] q3?

A. A5 8 FF 5737 (FAO)

B. Srfeid T 1737 (ILO)

C. I@SIfe® FA SFIF ©2f (IFAD)
D. ST anfeid (w1 (ARF)

Answer: SIS SFfEF (B (ARF)

Explanation: wfZ5e-5& a7 236 atafes (316 ASEAN (Association of Southeast
Asian Nations)| - af6 af$f$@ ¥ v ASHE, S5 TE| 9T T9TwIT AIFS IR
SRFTOI| - af6 aFf6 MPFTF T3 972 TERET IJTGE aF | APfETF T 77 (ILO),
ARSI6F FA SHIFT ST (IFAD) 8 AT 3 FA 57T (FAO) - SIIoTRET IFGS 3| TI:
SIS 3 S SHITRG|

Question 164: United Nations Framework Convention on Climate Change-35 3



S GIUSSCERE

A. ST e TI21F formemer

B. @3F AFFI AfHAT 4T IS
C. [ T%el 3%

D. faa 2IGH S fAsSIqer 8 T

Answer: {519 218N SETF [T 8 T

Explanation: - 5> ST » (7 SfoRT Swg w3 United Nations Framework
Convention on Climate Change (UNFCCC) 531% 3| - 933 I%EF 8 (V& 58 GET@T[%W“I?
fa8 f& (@8 T2E Sede 7 4f{8 TEHee a6 IFEF S SFE Fa1 27 JT3S JT6 5558

FHFF 2T| - UNFCCC (@ 529 6 (77 8 5131 I197 F( | ST AHTO 7375 FoAoor1eioa
371 SICETGS fA - f21 RIS ST fovesyaer 8 s 7yey |

Question 165: World Development Report (& S:3F XF TF1?

A. UNDP

B. BRICS

C. IMF

D. World Bank

Answer: World Bank

Explanation: IBRD a5 s« 2( International Bank for Reconstruction and
Development. - IBRD STHTF® RS 9167 AHBS | - 5288 N (F6A0 G NCHAEI
& IBRD 97 SIS HG | ©F SDNAFONT $28 HETF I A A7 FHFH BF 27| -
AT T AT T2 S&ofF 1 - STHT7IT - STFRGH @1 - IBRD 39 T (AF &fea=a
‘World Development Report’ (WDR) &1 & ATF | B3N: f[TIaRF STIN326 |

Question 166: IGHDBT (FF (T STSI1T (FAT?

A. STETERRT
B. 33T

C. 8+

D. 21T

Answer: 3]



Explanation: T RATE TSI (377 - IS | New York Times (3@ S©: ‘When You
Say Badminton, You Say Indonesia’ Badminton is part of the national identity. S, -
TTCIRG SRS SSIT (AT | - AN, NI TSI (¥ % Sepak Takraw 3T
f$% ©ferqeT| T3 New York Times 8 fabifaa1

Question 167: 'The lady with the Lamp' 91 *f4ft®-

A. (X (@

B. SIS ARG
C. 9T (O@
D. (FIES qR6oE

Answer: (FTE3 FROGRT

Explanation: (FTES ARGEEE ‘(1S T3 0§ T J977 77| - (1R J@ad N '@FE
TRfETRET A6 Sfbe | I&b Sbee SEE BRI (A SBey NEF (HHAE 734G
TS | - fRRETE Jrm A1k 2o (Faf9F T3 8 {36 TG g fBfFe s
(TATE ST S V@ ST AT WIS (FIET ARG | - ©FF ANV NI S0 3 el
2| (oA RebiE. )

Question 168: fEENES 1Yo TgF1Eg 9% -

A. 79516 ITIF

B. a1 ST 5] f& sTe<1e

C. RS ST 3 AFRT
D. AT 286 FT1

Answer: T 286 TgR1F

Explanation: b af3e 203 AT STRIRERT SITeFTRAAT ‘AN 256 TSN TG’
ICT AT TASTH STON (| - WA 75 T (ST 972 o SNOTRA ASAMNS T
@ 92 JfATOT STOF FIT 2| WA 266 STOAET6 TTFNET IO - (ANGD : 26 T3 36

- GGG FTORR : I A 6 - STTaea! : T T2 W12 N - SEAG (ACES : (Wi A1 271 -
A% NEFET TEF AT RO o ST @t s FI1 27| - 570 S (HFIIM 2038
AT FRAAANE (TARRAT ST 7207 FE | (SATYA: WA FOfA TSAEG SITRG 933
fafasy 831G faeG)




Question 169: (17 BT @A Wik T W@ S F iR 732

A. ST
B. f&fersmae
C. fe@ean
D. e

Answer: FEGIT

Explanation: wfS< §ia WS Sraf¥e =6 Fsf@ ¢ a7 Sersiia e Qiffoe (@2 Ffot
(TISENE S Bes [RE Wafbe 2@ M| - Siea sSrmenf Me@f=, fs@ean, orReFw
3 ffernaey - 9% G157 8 wfdper Sl WS ST Wiy FE AN® | - TP SfefRe FEIMSIT
faraesyel wfsger Sty ST SR wifqwg 971 T3F: fAb1aT 8 8IS abers|

Question 170: T T N (F1F 6 (TF YT FER?

A. SIFS-(FT
B. SI9e-T3
C. S16-go«
D. S1Fe-5i

Answer: ©IFe-bld

Explanation: 1Y =1 75T (Nathula Pass) - 8197 8 ©1a007 M5 91afse a6 fafa=w| - aft
foze 8 fifF T s=fFe| - aft S Jared g @ 936 =) - aff 5w T @@
AT $8,8¢0 b TN ST | - TGN SlF-STH0x MA@ Sron Fb T 92 fHifasfe
T9%e 2| TS¥: MFEE T S@INRG|

Question 171: IR (FHAGI T0TS qI7?
A. BCIM-EC

B. BIMSTEC

C.0IC

D. OAS

Answer: OAS



Explanation: I BCIM-EC, OIC 8 BIMSTEC - a9 5wsT5 (W1 OAS = The
Organization of American States T T3 3 S AMNIFE (TISTENT 510 TFT| - S28Y
N FAETE TSR (FEMGT® Charter of the OAS I H® 27| - ISATA W05 - wafe (W)

Question 172: Si@a FafSaR (Xinjiang) S0 ST (SMSIF J1-

A. QI
B. ST
C. oo

D. T3gF
Answer: S2HF
Explanation: - S357 Sia f3afem ameT Inamae a6 SiesnSt| - 987 257 3o |

- B 7 1R e 8 FamImE SfSETs O Ardfte 4@ S YRy F=Twi@d ST
wae forfTe BIfee amie | S35 fabifarsT ¢ fRffy 3316 faenG|

Question 173: SfORET GIT2 SHIET T FIG?

Answer: Y9

Explanation: (6#%2 734 =331ar (SDG): - SDG - a7 Tﬁh“ﬁr Sustainable Development
Goals 3T (IR OFIF TF5| - SDGs-AF (FIW 205G (V@ 090 | At (N6 Saft @FF
%7 (Goals) 97 NS b6 BTIsf6 @G E TA® | - AT T (0T T ATSIEF Ty
936 AffFed SFe BfaFTs A a ol SNFoRE (GFHR SAIT T8 T FE |

Question 174: T Maqf¥FF W3-

A. v fSoEa
B. b 6T
C. s fSoIs
D. o fEtEa



Answer: Yo f19a

Explanation: So fSEa 9 NEIEFF U35 Mfefo 271 - $28% WEF o ST Sfo=
F6F 0oft HTAT HfTTe THGAIT TANMEFTT (TRNTT 52 27| - §FfE THEST i do
RETTEa@ e fg NHAEFF IS RO T 7 31 - LSS FFIEFIT @F@
(6 wo b HT&T AR - 6 TS FEF (@IET [FTHJ 3@ FA | T3: ST STITZG 3
IERIBEL

Question 175: AFE] 93F6-

A. 5t INg
B. fA9e g9 g
C. 3 I%d
D. S3[w IF

Answer: 3fa I

Explanation: Al-'Agabah, also spelled Agaba or Akaba, port town, extreme
southwestern Jordan. - It lies on the Gulf of Agaba, an inlet of the Red Sea, just east of
the Jordan-Israel frontier on the gulf. - It is Jordan’s only seaport. - Because of
freshwater springs in the vicinity, it has been settled for millennia; King Solomon’s port
and foundry of Ezion-geber lay nearby. O3 fab1fa<T. o

Question 176: Trafalgar Square-29 JI931-

A. TIFIE
B. 8w
C. T
D. TS

Answer: TS

Explanation: - BT $IE NS (R TS AI50 AP0 NN SeAsNeTd fHeiarseT |
- Yot N RS HIH 3 CH Sgfere JMRAT T I FE SIS FE | - FHFENE Ia
T TINT FE TN TOEF (FT3T AF6 5IET ANFIT ] 2T FHNT FTIF| T3
IEQIEEAGT




Question 177: 3] Toye16 Gﬂlzlg\“) 33-

A. T3F AETFT
B. tfSpel AMHIFH
C. &5 A%
D. &5 SR IT

Answer: &7 AEFFT

Explanation: - ST Sfeve AN feet IS JETH F&F AP 9F 3ol APTOLS | -
(TR GHIOT SHEIT (A N FSTSTd JMal SF JT IS SN, (Iferdy, aeTema
A2 A IS FIHS @A™ T35z AaREH AT 917 &b

Question 178: (F INFT FfefaFe a3 MfF AT FIfFe 23?

A. Tdey I
B. *TI3e

C. YIF I
D. AT T

Answer: JNEETS I
Explanation: - ST (Mangrove) I NHTHISTE (RRSGR e A3 Semeiie

@RI - METS I (Mangrove forest), (RRSIGR TS TITE SAOTSR | - FRTTCTE
STAHA - AFFN WA (AT AT (A SHIF &NfFe TAEe I1 SS: RGN

Question 179: RIS (1 G156 FI1T G5 AT AT ?

A. forgeratst
B. $@IMmAT
C. mfean

D. (6 s1fbest

Answer: (576 AfoasT

Explanation: (TBMNfoa IRATECTT FHIGT (S AN S (GFAH OITT IFb 2007 | -
aft a6 IRTWCTT AT T BT T af6 IRATGCTT TL-AHEF 2| - 4 BieIg «Io1g



A AFE (AT - THNGA BIF ATed $9 Iof fFEREEF| TT: (GFa% ST
STITRG |

Question 180: IRTMCTE (FTI FACHIN FIETF (AT (77 I1T?

Explanation: SI1S (Y@ J1F 3¢, 000 T2 & FAI@ FRCOIT F1T I 2| D T 510®
SfIF ENRCOIN ST G N AHCw | IRNOCT TIfFe FRCOINN FTS SIAFASE JC:
- ATOPTRL, FSTT, Mo, FYF S TR0 (ST IEUGH - NIFAPRE, CIRE, ST 3
BIFT (ST 9150 YT $ SIS S1G - FAeT (Sl TTHR MRS | - (0T (6 GAST AT
b TR (AT ARCOIN FIT STI© SNH| (ST IR 3 fTF=fT6T : FIo-w7 ()

Question 181: fIET @™ (W6d Y IRAECTT AFHOF NATHAT TEA®R?
A. B

B. &3«

C. YRS

D. ¥

Answer: AT

Explanation: IRT@CTE ST 6 (077 a6 e I@®| - a3 ©1Fe 93¢ I9a6
g - o190 8 AN ST (MeTE S IR 06 (GFa Sie T@@| - 1w
I woft A7 FATIET T of5| - B1Fe 3 FINE ToF (MrTF HABITSr T
AFNG (ST TRTNG | BT IEF STE IRATW 97 SWITIG |

Question 182: IRATMCIF (T AT AFHF JAT IT?

A. Tfpe-afReareee
B. sif¥eameeT
C. Saa-Aoaed



D. SeR-TJH1%e
Answer: Sa&-TJ1¥

Explanation: IRACT STETTS b1F YA I RAG® 271 ASE 2@ - FBofaw Fo7 -
CHFAIT I - TAIS IN - ANIHF TN IRACTE Go 8 TP RO T =7 S
T AFHP INE SY(E FE| - AfFT-(7 93 CTEETI-A©FF NY I8 ET6 AFEH TG,
SIS, (NS IATSd, 2573, (@a@ e, RFeTEsa, IR/, I 8 TSRS (Sl
RIS AT TG TOT AAT FIC AFAF TAT (W (T | - AFFHF IAT TSTNPEH B
FF FfS AES 27| (SATA: IV ASTIE 3 TES ARFGAT : IR, 15T =257
SIEwIF)

Question 183: IRFATCT (FTA (BTG FITT T3[%?

Answer: ﬁal?ﬁ‘ﬁjq’

Explanation: IR TSR (SeNG FI STo[a | - ICYFIRIT FITA IRAT@CTT TG
G 37 A1 - aft oo Ea TRHSHE 93fFe | - aft NIFe 27 2w e AE| - 97 (W@ T
7T i@ FTTPRIAT SRS (0w g TAWa FAT 2T | TSN: ARSI TG SFINRG|

Question 184: TFEfeF A IRTIWCT (F1 G167 ¥ I (TAw?

A. ¥=1

B. ofias
C. BT
D. ©frd=

Answer: QlﬁlEﬁml

Explanation: J151 2 4@ | I - Ao qRATST 8 N8 g1 NFfes g1 NFfes
1T AMFEAFSNE TG 972 THRT® A7 ST AT (F1H 2© A 1| (T - I, FAHG,
SETTERIS, BUA(ST, G, A&, TAS TS, SIS, AT 3 Mo 2@ |



Question 185: faEa (F19 7157 'hydro-meteorological' 15T Re7F #fAfte?

A. T4

B. =1

C. 5t

D. S FAfC FoeT a1 @™

Answer: ©fI%s =HfG IfeT FA1 @A™

Explanation: SIPa SIS 'hydro-meteorological' YRS 932 HAEE 930 7 80w
fafsrast @ avifee| o PR Sers AMIRSIS S (Hydro-meteorological) 15T 7372 Sf3%

Tad: F) ©fd™T iiF* 'hydro-meteorological' G 7¥| 3%, a8 AT NISE A2
'hydro-meteorological' 1|

Question 186: '(IXTE 9T (] ST HI?

A. a6 (M0 I
B. WHETS I
C. a5 G

D. YIEEES FfaFe

Answer: NI FHfAT

Explanation: *SITed (GTd ARSI SAEEING TON NIGE ©F I A | - T
IO IS T IR TAGITTO! GGG ITOING, TTMGENE (ST T &1 - 7N Sz
@GR (NTQT) STEFAT AEHA (BT T ATSITATE IS 3NN AHToT T
TSI (FRRSenRas) fRANE ste e IwE@ TAIe @I ARSI G AT CTAT b0
FSFENOE ATFT Falte BieTd (5= |

Question 187: f@T @ TAGETG TG T Bi-a34?

A. (TS
B. fafer
C. ARG
D. AR5

Answer: 537



Explanation: - Jif 8 Sfte-Se{6® (F14 2 HfoF JeENET TN - [Hfod JEAE 2R
OIS FEATSIT A2 ST T AT TSI ST, FHAF 3 A TN T AAPSIT
OIRIE FE| - FrSa] OrF AfHIER THIAA FhoF IR FagT T | ok, @od JTEnsd
T3 - Wied (FoaT| 3N (THAINS 8 I, S 7@, AFTT-77T (I, TETF (12 GISCHTT
|

Question 188: (A% FNANHT TSN (F1AG?

TS
esf
3
e Goar

OO0 o>

Answer: (w3 (5OH]

Explanation: - Jif& 3 Sftw-o1efbw (I14 2T oS FTENEH S| - (doF JAEME 207
(TR MATS1F 932 AGTR JT JF SITHY SIE, FAIIFF 3 AR @6 FE T 5Fe1E
SRIE FE| - a1 o AHIAER THIN Wied FvE@ Py 57| S[odR, @fed JEnEd
T3 - Wod (FoaT| T35 (THAINS 8 I, JF 73, AFTT-77T (I, TETT (12 GTSCHT
|

Question 189: 'On Liberty' 9@ (3<% ($7?

A. A[ET FI5
B. 5 T3]

C. (5@ (@3
D. & SR f3reT

Answer: S S5 f3yeT

Explanation: - On Liberty 56 faf61 wrffas st sp316 foref aftw | ©1F dfbw Seiey I3@=
HEHY I@X®: - A System of Logic - Utilitarianism - Three Essays on Religion: Nature, the
Utility of religion, and Theism - The Subjection of Women - The Spirit of the Age =efs|
(CRISERERIEE))



Question 190: T31f35T® T governance f6 (F1H ST (AF ATIR?

A. B
B. 1afY
C. k=
D. forg

Answer: 5%

Explanation: Governance =G fa/d T (3@ B35 2= | a7 I - S T AfICTAAT
sfFUfem=er1 According to Oxford Dictionary: Middle English: from Old French, from
governer, from Latin gubernare ‘to steer, rule’, from Greek kubernan ‘to steer’. ijf'@%"lﬁ
f3% 1= 'kubernan' (¥ |

Question 191: ‘T Tf IOV -HFNGT TT6F (F?

A. STIfESG6
B. TG o™
C. IETS T

D. 3T FI5

Answer: RIT F6

Explanation: ¥ 16 SN MC3TA | - ©IF NS JeTHT foaiG | IN- - 53 2w,
- PORTH Tl FOIT IR - TR M| FOIRA (AoFel I PSR HoFeld T (T
@] FOE T 3T AFINOF T SO 4TA@E SFF (7| I FI0E FOIA AoFOR
FT6F F1 27|

Question 192: '"Human Society in Ethics and Politics' S@F (1¥F (F7?
A. (8T

C. & RAG e

D. FETS F1CTT

Answer: LS T



Explanation: ETS FCT A S%SEN 2@ - The Elements of Ethics, - Human Society
in Ethics and Politics, - Moral and others, - Introduction to Mathematical Philosophy etc.

T3 5: faeIfaaT|

Question 193: “M5F (M TR BTTF T BIRE AR [FONIG, AT HF J(0 TR BT
N 2T O A3 AP -5 (F IE®A?

A. SIS
B. (I
C. SHE55e
D. (F®T

Answer: (0T

Explanation: Na@F S6R-SAGACE, SH-NCE ACTHAR 2 AfoNF | - 6T T30 @fos
SR T TS SR A0 2| - (T T6fTo O3 fopel Tt 26T ©f SN
RGIRIRY

Question 194: SPSER 3+ fSfg Fi?

A. SETETY

B. ITeTed

C. sTred

D. S M

Answer: JREF TS

Explanation: - SPTN TG STTeIES I1331F S SEiee | - SPTNE 3+ fofs - SR
M| - SPISTET Ao I} [T X FRHPT RTIR| - AT TR A F T AT SRR
AP STSIHS T3 NEF|

Question 195: (@ @feF MASH NETE T ST 8FF T FE?

A. IrEREW
B. AN
C. Jeferam



D. SFEEIE™

Answer: SFAESTEAY

Explanation: - SHETSEATY A6 @ Seam™ IF 37 I635 2 NETS AT T S
TS AT S| - 9% HOIW SIS (ool Sfa I 5| ST MR T 3 AT
(F forsfsre 231

Question 196: IRATTCT F© ST SO IT BFHICF @ T FAT I7?

A. Robdo
B. 055
C. 0%
D. 3053

Answer: 05
Explanation: - ‘ﬁﬁ © T3 3 SPTHA SO AT IRATGT FIPTF 2053 FE IO SHEEH

@ FoqT FER| - AT ST ST TET 3 TR T 3fee afsda 8 sxFwama
ST I Fefef] FAT TAR

Question 197: AETREF M@ STINER SN FIG?

A. oft
B. «f
C.sfo
D. uft

Answer: &f5

Explanation: f=RE ST SPISEE &1 (77 $5%D S| TG SR ST ST
STTREE SR T0d FE | ARG T SPINET ST f6 | 737- - I FTi8iTer 8
SARfIRET, - Ao FEfeTTel 8 NRiNeR Jafsfs, - NHFEa FRFFO], - 37T 8, -
SRR =T, - YA Tolel AT, - IS IFGIF M PN S >0



